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Can you crack this letter coded message?

In this code you have to subtract the value of
the second letter from the first letter.
So,m/e=13-5=8=h.

alblc|dle|flg|lh|i|j|k|]|m
112|3|4|5|6|7|8|9]|10(11|12]13

nfojpljq|r|s|tjujviw|x|y|z
14|15 |16 (17 |18 |19 |20 |21 |22|23|24 (25|26

m/e g/b v/c b/a t/k w/s x/d y/j
/ / /

v/b s/k k/f z/g w/n j/g x/m z/m h/g t/f
e e - - / /

i/c y/g j/a g/b s/e v/r z/a t/e x/c x/f
- - / /

u/b m/d s/e u/b s/r v/d s/n
/

AT T

i/c y/j v/d n/g s/j z/d q/| p/b
- o !

‘ This looks hard? ’

Luke 5 v20
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Can you crack this letter coded message?
In this code each letter has a humber value.

alblc|dle|flg|lh|i|j|k|]|m
112|3|4|5|6|7|8|9]|10[11|12]13
T

nfo|(plqlr|s ulviw|x|y|z

1415|116 |17 |18 |19|20|21 (22|23 |24 |25|26

85 19194 2015 208 5

_ ! _ ___/__/_ _ _

199311 13114 6 18 9 5 14 4

e i e o s P e e e e
25 1521 18 19914 19 1 18 5

_ - _/ /

6 15 18 7 9 22 5 14

| This is easier !

Luke 5 v20




